IRZFEE (L)
ETHI1E4R1ENSTRI2EIA31HET
NEHAFEN BREERBHEETYT—IME

— =i B4 M
7 | FHER AIEEFHEE B R
I EXFHRZO
1 BEFHIA
AEEIA [ 0] 100,000 ]i[ -100,000 ]
AEEIRA 0 100,000 -100,000
SEILA [ 6,310,000 ][ 6,840,000 ][ -530,000 ]
ELESEIRA 6,100,000 6,660,000 -560,000
WEEESEINA 210,000 180,000 30,000
HEBEFRA [ 210,000 ][ 3,201,600 ][ -2,991,600 ]
A HFEHBEURA 210,000 3,201,600 -2,991,600
HMUTA [ 10,050 J{[ 21,000 ]i[ -10,950 ]
SZHLF| BURA 50 1,000 -950
MUTLA 10,000 20,000 -10,000
EEEHIRAG 6,530,050 10,162,600 -3,632,550
2 EBXEFEFXZH 0
EXEXH [ 4,390,000 ]{[ 6,957,600 ][ -2,567,600 ]
% B AN H 269,000 269,000 0
SEEXH 90,000 190,000 -100,000
REXBEXH 1,028,000 1,014,000 14,000
BIEERE S H 138,000 105,000 33,000
HEREXE 114,000 85,000 29,000
FRIRAEZH 285,000 420,000 -135,000
EEfxH 825,000 678,000 147,000
HHlEXH 700,000 620,000 80,000
RiEEXH 0 2,791,600
M 941,000 785,000 156,000
EEEYH [ 2,852,000 ][ 3,029,000 ][ -177,000 ]
1% B HREN S 351,000 351,000 0
WHWRFS 50,000 50,000 0
SEREXH 280,000 400,000 -120,000
REXBEXH 335,000 420,000 -85,000
BIEERE S H 180,000 200,000 -20,000
HEREXE 34,000 30,000 4,000
FRIRAEZ H 260,000 300,000 -40,000
KESBEZ L 55,000 25,000 30,000
MRREXZE 483,000 483,000 0
RREXH 644,000 500,000 144,000
M 180,000 270,000 -90,000
BEREHZHE 7,242,000 9,986,600 -2,744,600
EXRTHINZELE -711,950 176,000 -887,950 ]




I REFHINZ DA
1 REFENA

YEEEIAIA [ 1,000,000 ][ 01 1,000,000 ]
R EEFELTESIAIA 1,000,000 0 1,000,000
BEEEINAGT 1,000,000 0 1,000,000
21 EEEIH
HEEEMSIH [ 300,000 ][ 250,000 ][ 50,000 ]
AEDEEASFRIFEN AR X H 50,000 50,000 0
PEIOVIRKEILES I H 200,000 200,000 0
REEREEAELI S 50,000 50,000
HE-RIESIHE|[ 01l 0]l 0]
RETEZH 0 0 0
BEFRBIHE 300,000 250,000 50,000
BREEHINEEE 700,000 -250,000 950,000
I BABUEENINZ DER
1 BABEEIRA
FEYEULA 2,750,000 ][ 2,900,000 ][ -150,000 ]
LHASSEEY SIA 2,750,000 2,900,000 -150,000
B REIURAGT 2,750,000 2,900,000 -150,000
2 BEEEXH
EYEXZH|[ 2,750,000 ][ 2,900,000 ][ -150,000 ]
LHASSERAY X H 2,750,000 2,900,000 -150,000
B ERE R HE 2,750,000 2,900,000 -150,000
BB =58 0 0 0
NV $REXH
FliEE [ 500,000 ][ 500,000 ][ 0]
FliEE 500,000 500,000 0
LRI %A -511,950 -574,000 62,050
FIEEEES AN F-=2 2,724,616 3,298,616 -574,000
RERFEHIN T =5 2,212,666 2,724,616 -511,950




